+ SUM UP =+

Do any exercise below and find your answer in the code key. Notice the letter
above it. Print this letter in the box at the bottom of the page that contains the
number of the exercise. Keep working and you will create a special message.

CODE KEY
WIG|IH]|DJIL|SIAIE|O|Y|T|U|IT|CIM|R|IP|IN|F
~18|~15|"13|710|=8~7|76]74|73/-11 0| 2| 3|4|5|7]|8|14|17

-8+ 2=
6+ 8=

5+ ~9 =
-9+ 1=
-3 +-1=

o A
+ +
o O
[

BERRRRGRRRAE@
E@EDERDEIRE

- @@@@RREERREPEEEE)

-9 + -9 = -1 + 2= 8 +-12 =

-7 +1= 82 8+9-= 34+ 4 =

2131415167189 10{11|12]13|14]15]16]17]18]19]20}21}22{23|24
25126(27]28129]30{31|32]33[34|35|36137(38139(40[41}42]43144]45{46]47}48
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= €G- + 0S[9]
= 69- — 69-[H]
=Gl + 9-[1]
=0l — Z[N]
= ¢t + 8v-[H]
=Zl-+ 9L[N]
= Gg- + S[W
= 02- — -[IN]
= 26— + 2€-[[]

= | + /-[H]
= Gp- — GL[F]
=¢-+ vi[d]
= G- — 81-[0]
= 6- + 8-[1]
= ¢l — 0€-[S]
= 9- + ¢L[1]
= %1 — ¥[H]
= 0¢- — G-[a]
=9 + 0L[l]
=Gl-— 09[d]

= - — L-[3]
=2-+ 0L[S]
=8l — LL[O]
=2l — Lg[d]
= G-+ ¥-[1]

=Gl + ¢-[V]
= 9-— 1£[0]
=0l — ¥-[d]
= 22—+ ¥[V]
=2k — L[1]
=8l + 91-[0]
= 02- — €-[N]
=2-+ /-[3]
= -+ 6[d]
= /- — ¢[O]
=2+ 9-[A]
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Why Didn’t the Butterfly

Go to the Dance?

Write each answer, then mark it in the answer column. For each set of

exercises, there is one extra answer. Write the letter of this answer in

the corresponding box at the bottom of the page.

5+2 Answers: 9+-4 Answers:

1 7+-3 (V)4 (©)-s 8 3+-7 (5)9 (A)-4
-4 +-6 A-8 (K)-10 -6 +15 (D12 (U)s
1+-8 -7 4+ 1

2 6 +-12 ®7 13 9 ~5+-12 As  (1)-1
-2+9 V-7 Q)-18 9 +-20 (P)-6 17
~7+6 4 +-3

3 5+-8 @-1 (N)-3 10 ~4+3 ©-7 ®1
12+ 13 (V)25 (H) 18 4+-3 (M7 -1
-10 +-10 -8+ 18

4 17 + 1 (D) 16 (T)-8 11 6 +-19 (N) 10 (W)-16
1145 (R)-20 (B) -6 13+5 (F) 18 -13
4+-9 11 +-2

5 ~7 +-15 A 14 ©)e 12 -7 +-4 L)12 (E)o
-3+ 12 (P)-22 (©)-5 15+ 8 (D) -7 11
16 +-8 -6+ 12

6 -5 + 20 Me (7)15 13 99 + -99 ®-2 @s
~6+6 (s)-4 W) o 3+-5 (R)0 (®)-4
~13 + 4 ~20 +-30

7 -7 +2 -5 (2)-17 14 70 +-40 (Y)-50 (M) 50
14 +-16 (E)-2 (0)10 ~70 + 40 (N30 (T)-80

8 | 4 | 11 6 | 9 |14 7 103 [13] 5 | 2 ] 12
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When Do a Bunch of Cold Germs
Celebrate a Victory?

Do each exercise and find your answer in the corresponding set of
answer boxes. Write the letter of the exercise in the box containing
the answer.

(E)-3+-4 | ' -20 +-30

®)-8+5 (A)7+8 (W) 4 + =7 + 11

-7 +-7 (B)-9+-2 @—9+—9+—9

-1 +-16 ~ (N)~4 +-40 (H)13+2+6

On first down, the Vultures lost 6 yd. @ A scuba diver dove 18 ft below the
On second down, they lost 5 yd. On surface to observe a school of fish.
third down, they lost 8 yd. Use an Then he dove another 24 ft to the
integer to express their overall bottom. If he started at sea level,
change in position as a result of the what was his elevation when he
three plays. yd reached the bottom? ' ft

I‘22 ~141-19|-44| 18 |-17| 21 | =7 |~10|~36 |11 |—42|-50|-13 727 |18 | 15 |

33 +-15 @—47+—2d @—7+—13+—6
-29 + -64 (E)-8+-75 (T)-19+-48 +5
41 +—58. (s) 35+ 39 @—25 +-25 + 25

(1) 72+16 (N)-87 + 24 (2)-8+8+-8+78

The temperature at 10 A.M. was ~7°F. @ Rolex wrote a check for $45. The

By noon, the temperature had next day, he wrote a check for $32.
dropped 12°F. By 2 P.M,, it had Use an integer to express the change
dropped another 5°F. What was the in his bank balance when the two
temperature at 2 P.M.? °F checks were cashed.: $

|*24 —99 |-111|-76|-72|-67| 82 |~75| 88 | 74 |—27 |—48 |~77|726 |93 |32 “831
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TOPIC 5-f: Subtracting Integers
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G +€L—9-+GlI = 0l- + 0§ — OF + 0€- =€ -0 —€l-— €~
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